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1. Which of the following weed

pollens causes asthma in

human?

(A) Calotropis

(B) Kaunch weed

(C) Parthenium

(D) Lantana

2. The headquarter of ICRISAT is

located at

(A) New Delhi

(B) Patna

(C) Hyderabad

(D) Bangalore

3. What is the share of national

income from agriculture?

(A) 15%

(B) 20%

(C) 25%

(D) 30%

4. Which of the following is a major

aim of cropping system?

(A) To increase resource use

efficiency

(B) To increase farm income

(C) To improve nutrition

(D) All of the above

5. Total volume of water delivered

to a crop during its life cycle in

the field is known as

(A) duty

(B) delta

(C) water expense

(D) Both (B) and (C)

6. The net irrigated area of Bihar is

(A) 25·73 lakh ha

(B) 33·51 lakh ha

(C) 41·24 lakh ha

(D) 93·60 lakh ha

7. In which of the following years,

the National Programme on

Organic Production (NPOP) was

launched?

(A) 1991

(B) 2001

(C) 2005

(D) 2011

8. An agriculture field subjected to

minimum tillage will have

(A) faster rate of decomposition

of organic matter

(B) slower rate of decomposi-

tion of organic matter

(C) no effect on the rate of

decomposition of organic

matter

(D) None of the above
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1. {ZÂZ{b{IV _| go {H$g IanVdma H$m namJ

_mZd _| AÒW_m H$m H$maU ~Z gH$Vm h°?

(A) H°$bmoQ¥>m∞{ng

(B) H$m¢M Kmg

(C) nmW}{Z`_

(D) b|Q>mZm

2. AmB0 gr0 Ama0 AmB0 Eg0 E0 Q>r0 H$m

_wª`mb` pÒWV h°

(A) ZB© {XÑr _|

(B) nQ>Zm _|

(C) h°Xam~mX _|

(D) ~¢Ωbmoa _|

3. H•${f go amÔ¥>r` Am` H$m {hÒgm {H$VZm h°?

(A) 15%

(B) 20%

(C) 25%

(D) 30%

4. {ZÂZ{b{IV _| go gÒ`H´$_ `moOZm H$m _wª`

C‘oÌ` H$m°Z-gm h°?

(A) gßgmYZ Cn`moJ XjVm H$mo ~ãT>mZm

(B) H•${f Am` H$mo ~ãT>mZm

(C) nm°{Ô>H$Vm _| gwYma

(D) Cn`©w∫$ g^r

5. {H$gr \$gb Ho$ OrdZ-MH´$ _| bJZo dmbo nmZr

Ho$ Am`VZ H$mo H$hVo h¢

(A) S>ÁyQ>r

(B) S>oÎQ>m

(C) nmZr H$m IM©

(D) (B) Am°a (C) XmoZm|

6. {~hma H$m Hw$b qg{MV joÃ h°

(A) 25·73 bmI hoäQ>o`a

(B) 33·51 bmI hoäQ>o`a

(C) 41·24 bmI hoäQ>o`a

(D) 93·60 bmI hoäQ>o`a

7. {ZÂZ{b{IV _| go {H$g df© _| O°{dH$ CÀnmXZ

Ho$ {bE amÔ¥>r` H$m`©H´$_ ewÍ$ {H$`m J`m Wm?

(A) 1991

(B) 2001

(C) 2005

(D) 2011

8. ›`yZV_ OwVmB© dmbo H•${f joÃ _| hmoJm

(A) H$m~©{ZH$ nXmW© H$m Vrd´ JbZ

(B) H$m~©{ZH$ nXmW© H$m _ßX JbZ

(C) H$m~©{ZH$ nXmW© Ho$ JbZ na H$moB© ‡^md

Zht

(D) Cn`©w∫$ _| go H$moB© Zht
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9. Which of the following is a

component of sustainable

agriculture?

(A) Social

(B) Economic

(C) Environmental

(D) All of the above

10. The total number of agro-

climatic zones in Bihar is

(A) 4

(B) 5

(C) 3

(D) 2

11. Which of the following is used to

measure the relative humidity in

crop canopy?

(A) Quantum sensor

(B) Pyrgeometer

(C) Thermocouple

(D) Assmann psychrometer

12. The estimated land degradation

and desertification in India is

(A) 88·93 million ha

(B) 97·84 million ha

(C) 106·32 million ha

(D) 115·76 million ha

13. Which of the following waves is

used in remote sensing?

(A) Electric field

(B) Gamma rays

(C) Sonar waves

(D) Electromagnetic waves

14. Which of the following is used

for the evaluation of soil

fertility?

(A) Visual appearance

(B) Soil analysis

(C) Plant analysis

(D) All of the above

15. The movement of material into

the portion of soil profile as in

an argillic or spodic horizon is

called

(A) illuviation

(B) alluviation

(C) eluviation

(D) leaching

16. The percentage of water

remaining in the air-dried soil is

called

(A) air-dried soil

(B) field capacity

(C) hygroscopic coefficient

(D) permanent wilting point
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9. {ZÂZ{b{IV _| go H$m°Z-gm gVV H•${f H$m

Ad`d h°?

(A) gm_m{OH$

(B) Am{W©H$

(C) n`m©daU

(D) Cn`©w∫$ g^r

10. {~hma _| Hw$b H•${f Obdm`w joÃ H$s gßª`m h°

(A) 4

(B) 5

(C) 3

(D) 2

11. {ZÂZ{b{IV _| go \$gb N>Ã _| gmno{jV

Am–©Vm _mnZo Ho$ {bE {H$gH$m Cn`moJ {H$`m

OmVm h°?

(A) ädmßQ>_ g|ga

(B) {na{O`mo_rQ>a

(C) W_m}H$nb

(D) Ag_mZ gmBH´$mo_rQ>a

12. ^maV _| ^y{_ AdH´$_U Edß _ÈÒWbrH$aU H$m

AZw_m{ZV joÃ h°

(A) 88·93 {_{b`Z hoäQ>o`a

(B) 97·84 {_{b`Z hoäQ>o`a

(C) 106·32 {_{b`Z hoäQ>o`a

(D) 115·76 {_{b`Z hoäQ>o`a

13. [a_moQ> g|qgJ ‡{H´$`m _| {ZÂZ{b{IV _| go {H$g

VaßJ H$m Cn`moJ hmoVm h°?

(A) {d⁄wV≤ joÃ

(B) Jm_m {H$aU

(C) gmoZma VaßJ

(D) {d⁄wV≤-MwÂ~H$s` VaßJ

14. {ZÂZ{b{IV _| go _•Xm Cd©aVm H$m _yÎ`mßH$Z

{H$gHo$ ¤mam {H$`m OmVm h°?

(A) —Ì` CnpÒW{V

(B) _•Xm {dÌbofU

(C) nm°Y {dÌbofU

(D) Cn`©w∫$ g^r

15. _•Xm ‡mo\$mBb Ho$ EH$ {hÒgo _| gm_J´r H$m

gßMbZ, O°go {H$ Am{O©{bH$ `m Ònmo{S>H$

hmoamBOZ H$hbmVm h°

(A) BbydrEeZ

(B) AbydrEeZ

(C) EbydrEeZ

(D) {ZjmbZ

16. dm`w-ewÓH$ {_≈>r _| eof Ob H$m ‡{VeV

H$hbmVm h°

(A) dm`w-ewÓH$ {_≈>r

(B) IoV H$s j_Vm

(C) hmBJ´moÒH$mo{nH$ JwUmßH$

(D) ÒWm`r _waPmZo H$m {~›Xw
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17. Which of the following is

a composition of Bordeaux

mixture?

(A) Copper chloride and soda

lime

(B) Copper chloride and lime

(C) Copper sulphate and lime

(D) Copper sulphate and soda

lime

18. The relative mobility of nutrients

in plants depends on

(A) soil pH and temperature

(B) soil texture and type of clay

(C) soil moisture and organic

matter content

(D) All of the above

19. The higher content of vitamin B2

is found in which of the

following fruits?

(A) Bael

(B) Walnut

(C) Papaya

(D) Aonla

20. Buttoning is a physiological

disorder in which of the

following vegetables?

(A) Cabbage

(B) Cauliflower

(C) Onion

(D) Garlic

21. Which of the following parts of

asparagus is used for the

consumption?

(A) Leaf

(B) Stem

(C) Fruit

(D) Flower

22. Which of the following plant

hormones is used for the

de-greening of citrus fruits?

(A) Gibberellic acid

(B) NAA

(C) Ethephon

(D) Cytokinin

23. A typical aroma comes in

ripened apple fruits due to

which of the following?

(A) Ethyl-2-methylbutyrate

(B) Eugenol

(C) Isopentanol

(D) Hexanol

24. Removal of unwanted buds from

the crop to restore the energy of

the crop is known as

(A) clipping

(B) nipping

(C) budding

(D) pruning
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17. {ZÂZ{b{IV _| go ~moS>}äg {_lU, {H$gH$m

{_lU h°?

(A) H$m∞na äbmoamBS> Edß gmoS>m bmB_

(B) H$m∞na äbmoamBS> Edß MyZm

(C) H$m∞na gÎ\o$Q> Edß MyZm

(D) H$m∞na gÎ\o$Q> Edß gmoS>m bmB_

18. nm°Ym| _| nmofH$ VŒdm| H$s gmnoj J{VerbVm

{Z^©a H$aVr h°

(A) _•Xm pH Edß Vmn_mZ na

(B) _•Xm ~ZmdQ> Edß _•{ŒmH$m Ho$ ‡H$ma na

(C) _•Xm Z_r Edß H$m~©{ZH$ nXmW© H$s _mÃm

na

(D) Cn`©w∫$ g^r

19. {ZÂZ{b{IV _| go {H$g \$b _| {dQ>m{_Z B2

H$s A{YH$V_ _mÃm nmB© OmVr h°?

(A) ~ob

(B) AIamoQ>

(C) nnrVm

(D) Am±dbm

20. {ZÂZ{b{IV _| go ~Q>qZJ {H$g g„Or H$m EH$

H$m{`©H$s` {dH$ma h°?

(A) nŒmmJmo^r

(B) \y$bJmo^r

(C) fl`mO

(D) bhgwZ

21. {ZÂZ{b{IV _| go EoÒn°amJg H$m H$m°Z-gm ^mJ

ImZo Ho$ {bE ‡`moJ {H$`m OmVm h°?

(A) nŒmr

(B) VZm

(C) \$b

(D) \y$b

22. {ZÂZ{b{IV _| go {H$g nmXn hm∞_m}Z H$m ‡`moJ

Zrß~y \$b _| h[aVVm g_m· H$aZo hoVw {H$`m

OmVm h°?

(A) {O~ao{bH$ AÂb

(B) EZ0 E0 E0

(C) EWo\$m∞Z

(D) gmBQ>moH$mB{ZZ

23. {ZÂZ{b{IV _| go {H$gH$s dOh go go~ Ho$

\$b go EH$ {deof gwJßY AmVr h°?

(A) BWmBb-2-{_WmBb„`yQ>mBaoQ>

(B) `yOoZm∞b

(C) AmBgmonoßQ>mZm∞b

(D) hoägmZm∞b

24. \$gb H$s D$Om© H$mo ~hmb H$aZo Ho$ {bE \$gb

go Admß{N>V H${b`m| H$mo hQ>mZo H$mo H$hm

OmVm h°

(A) H$VaZ

(B) {ZqnJ

(C) ~qS>J

(D) N>±Q>mB©
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25. Norin-10 is the source of

dwarfing gene for which of the

following crops?

(A) Rice

(B) Pearl millet

(C) Sorghum

(D) Wheat

26. Synthetic variety can be

developed from which of the

following?

(A) Inbreds

(B) Clones

(C) Open-pollinated varieties

(D) All of the above

27. Heterozygous tester is used for

(A) recurrent selection for

general combining ability

(B) recurrent selection for

specific combining ability

(C) reciprocal recurrent

selection

(D) simple recurrent selection

28. Which of the following crops is

naturally self-pollinated?

(A) Sugarcane

(B) Maize

(C) Bajra

(D) Jute

29. The ability of a plant cell to

develop into a whole plant in

culture media is known as

(A) viability

(B) longevity

(C) totipotency

(D) prepotency

30. Which of the following crops is

naturally cross-pollinated?

(A) Wheat

(B) Ragi

(C) Sunflower

(D) Rice
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25. Zmo[aZ-10 ~m°Zo OrZ H$m ÚmoV {ZÂZ{b{IV _|

go {H$g \$gb go h°?

(A) YmZ

(B) ~mOam

(C) ¡dma

(D) Johˇ±

26. H•${Ã_ {H$Ò_ {ZÂZ{b{IV _| go {H$ggo

{dH${gV H$s Om gH$Vr h°?

(A) B›~´ooS> go

(B) äbmoZ go

(C) Iwbr-nam{JV {H$Ò_ go

(D) Cn`©w∫$ g^r

27. {df_`wΩ_Or narjH$ ‡`w∫$ hmoVm h°

(A) gm_m›` gß`moOZ j_Vm Ho$ AmdVu M`Z

Ho$ {bE

(B) {d{eÔ> gß`moOZ j_Vm Ho$ AmdVu M`Z

Ho$ {bE

(C) nmaÒn[aH$ AmdVu M`Z Ho$ {bE

(D) gab AmdVu M`Z Ho$ {bE

28. {ZÂZ{b{IV _| go H$m°Z-gr \$gb ‡mH•${VH$

Í$n go Òd-nam{JV hmoVr h°?

(A) Jfim

(B) _∏$m

(C) ~mOam

(D) OyQ>

29. gßdY© _m‹`_ _| nm°Yo H$s H$mo{eH$m H$m nyao nm°Yo

_| {dH${gV hmoZo H$s j_Vm H$mo H$hm OmVm h°

(A) OrdZ j_Vm

(B) XrK© OrdZ

(C) nyU© e{∫$

(D) ‡mYm›`

30. {ZÂZ{b{IV _| go H$m°Z-gr \$gb ‡mH•${VH$

Í$n go na-nam{JV hmoVr h°?

(A) Johˇ±

(B) amJr

(C) gyaO_wIr

(D) YmZ
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31. The term ‘ideotype’ was coined

by whom among the following

scientists?

(A) Jennings

(B) Donald

(C) Rasmusson

(D) Watson

32. Mendel’s findings were

rediscovered by whom among

the following?

(A) Correns

(B) de Vries

(C) Tschermak

(D) All of them

33. Meiosis crossing-over takes

place during which of the

following stages?

(A) Leptotene

(B) Zygotene

(C) Pachytene

(D) Diplotene

34. Breeder seed is a progeny of

which of the following?

(A) Foundation seed

(B) Registered seed

(C) Nucleus seed

(D) Certified seed

35. Which of the following is a result

of genetic association between

two variables?

(A) Pleiotropy

(B) Linkage

(C) Gene interaction

(D) Both (A) and (B)

36. Which of the following is mostly

considered lethal gene?

(A) Gametic lethal

(B) Recessive lethal

(C) Dominant lethal

(D) Conditional lethal

37. A plant pathogenic fungus that

initially requires living host cells

but after killing grows on the

dead and dying cells is known as

(A) hemibiotroph

(B) necrotroph

(C) biotroph

(D) saprotroph

38. Bunt and Smut diseases of

wheat can be effectively

controlled by the seed treatment

by which of the following

fungicides?

(A) Captan

(B) Metalaxyl

(C) Mancozeb

(D) Carboxin
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31. "AmB{S>`moQ>mBn' e„X BZ_| go {H$g d°km{ZH$

Ho$ ¤mam {X`m J`m?

(A) OoqZΩg

(B) S>moZmÎS>

(C) amg_wgm∞Z

(D) dm∞Q>gZ

32. _oßS>b Ho$ {ZÓH$fm] H$mo nwZÖ BZ_| go {H$gZo

ImoOm?

(A) H$m∞a|g

(B) S>o d´rg

(C) eoa_mH$

(D) BZ_| go g^r

33. AY©-gyÃr` {d^mOZ _| H´$m∞qgJ-Amoda

{ZÂZ{b{IV _| go {H$g AdÒWm Ho$ Xm°amZ

hmoVm h°?

(A) boflQ>moQ>rZ

(B) Om`JmoQ>rZ

(C) n°H$sQ>rZ

(D) {S>flbmoQ>rZ

34. ‡OZH$ ~rO {ZÂZ{b{IV _| go {H$gH$s gßV{V

hmoVo h¢?

(A) AmYma ~rO

(B) nßOrH•$V ~rO

(C) Ho$›–H$ ~rO

(D) ‡_m{UV ~rO

35. Xmo Mam| Ho$ ~rM AmZwdß{eH$ gÂ~›Y

{ZÂZ{b{IV _| go {H$gH$m n[aUm_ hmoVm h°?

(A) ~h˛nX

(B) ghbæVm

(C) OrZ nmaÒn[aH$ {H´$`m

(D) (A) Am°a (B) XmoZm|

36. {ZÂZ{b{IV _| go A{YH$mße KmVH$ OrZ

H$m°Z-go hmoVo h¢?

(A) `wΩ_H$ KmVH$

(B) A‡^mdr KmVH$

(C) ‡^mdr KmVH$

(D) geV© KmVH$

37. EH$ nmXn amoJOZH$, {Ogo ewÍ$ _| Or{dV

nanmofr H$mo{eH$mAm| H$s AmdÌ`H$Vm hmoVr h°

{H$›Vw _maZo Ho$ ~mX _•V Am°a _aZo dmbr

H$mo{eH$mAm| na CJVm h°, H$mo H$hVo h¢

(A) {dH$Înr _•VOrdr

(B) {dH$Înr naOrdr

(C) A{dH$Înr naOrdr

(D) _•VOrdr

38. Johˇ± Ho$ ~ßQ> Edß Hß$S> amoJ H$mo {ZÂZ{b{IV _| go

{H$g H$dH$Zmer Ho$ ~rO CnMma ¤mam ‡^mdr

T>ßJ go {Z`ß{ÃV {H$`m Om gH$Vm h°?

(A) H°$flQ>mZ

(B) _oQ>mb°äOmBb

(C) _°›H$moOo~

(D) H$m~m}pägZ
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39. Which of the following

pathogens does not have the

cell wall in their cell?

(A) Protozoa

(B) Fungi

(C) Phytoplasma

(D) Bacteria

40. Which of the following

pathogens survives into soil in

the form of sclerotia for a long

duration?

(A) Rhizoctonia

(B) Sclerotium

(C) Sclerotinia

(D) All of the above

41. Which of the following is a

systemic fungicide?

(A) Metalaxyl

(B) Propiconazole

(C) Carbendazim

(D) All of the above

42. Rice tungro virus is transmitted

by which of the following

vectors?

(A) Aphid

(B) Leafhopper

(C) Whitefly

(D) Mite

43. Cleistothecia, a sexual struc-

ture, is formed by which of the

following fungi?

(A) Colletotrichum

(B) Erysiphe

(C) Fusarium

(D) Phomopsis

44. Black sigatoka disease of

banana is caused by which of

the following pathogens?

(A) Phyllosticta musarum

(B) Cordana musae

(C) Mycosphaerella fijiensis

(D) Mycosphaerella musae
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39. {ZÂZ{b{IV _| go {H$g amoJOZH$ H$s H$mo{eH$m

_| H$mo{eH$m {^{Œm Zht hmoVr h°?

(A) ‡moQ>moOmoAm

(B) H$dH$

(C) \$mBQ>moflbm¡_m

(D) OrdmUw

40. {ZÂZ{b{IV _| go H$m°Z-gm amoJOZH$

Òäboamo{e`m Ho$ Í$n _| {_≈>r _| bÂ~o g_` VH$

Or{dV ahVm h°?

(A) amBOmoäQ>mo{Z`m

(B) Òäboamo{e`_

(C) Òäboamo{Q>{Z`m

(D) Cn`©w∫$ g^r

41. {ZÂZ{b{IV _| go H$m°Z-gm gdm™Jr H$dH$Zmer

h°?

(A) _oQ>mb°äOmBb

(B) ‡mo{nH$moZoOm∞b

(C) H$m~}›S>m{O_

(D) Cn`©w∫$ g^r

42. YmZ H$m Qw>ßJamo {dfmUw {ZÂZ{b{IV _| go {H$g

amoJdmhH$ Ho$ ¤mam \°$bVm h°?

(A) _mhˇ±

(B) nŒmrhm∞na

(C) g\o$X _äIr

(D) KwZ

43. päbÒQ>moWo{g`m EH$ `m°Z gßaMZm {ZÂZ{b{IV _|

go {H$g H$dH$ ¤mam ~ZmB© OmVr h°?

(A) H$moboQ>moQ¥>mBH$_

(B) EamB{g\$s

(C) ‚`yOo[a`_

(D) \$mo_mopflgg

44. Ho$bo H$m H$mbm {gJmQ>moH$m amoJ {ZÂZ{b{IV _|

go {H$g amoJOZH$ Ho$ H$maU hmoVm h°?

(A) \$mBbmopÒQ>äQ>m Â`ygoa_

(B) H$m∞aS>mZm Â`ygr

(C) _mBH$moÒ\o$aobm {\${OEp›gg

(D) _mBH$moÒ\o$aobm Â`ygr
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45. Leaf, panicle and fruit blight of

litchi is caused by which of the

following pathogens?

(A) Colletotrichum

gloeosporioides

(B) Colletotrichum siamense

(C) Cephaleuros virescens

(D) Alternaria alternata

46. Irregular-shaped dark brown

cankers on the outer surface of

the potato tuber are a

characteristic symptom of which

of the following diseases?

(A) Black scurf of potato

(B) Wart of potato

(C) Early blight of potato

(D) Late blight of potato

47. Majority of the plant viruses has

a genome of

(A) ssRNA

(B) dsRNA

(C) ssDNA

(D) dsDNA

48. Who wrote Vrikshayurveda,

which is the first book in India

where the detailed account on

plant diseases and their control

has been mentioned?

(A) Theophrastus

(B) B. B. Mundkur

(C) Surapala

(D) E. J. Butler

49. Most of the plant parasitic

nematodes belongs to which of

the following orders?

(A) Tylenchida

(B) Dorylaimida

(C) Aphelenchida

(D) Nematoda

50. Which of the following

nematodes is known as cyst

nematode?

(A) Heterodera

(B) Ditylenchus

(C) Xiphinema

(D) Meloidogyne



25/AGS/M–2023–07/17-A 15 [ P.T.O.

45. brMr H$s nŒmr, nwÓnJw¿N> Am°a \$b H$m Pwbgm

amoJ {ZÂZ{b{IV _| go {H$g amoJOZH$ Ho$ H$maU

hmoVm h°?

(A) H$moboQ>moQ¥>mBH$_ pΩb`moÒnmo[a`moS>g

(B) H$moboQ>moQ¥>mBH$_ {g`m_o›g

(C) go\o$Î`wamog {daogo›g

(D) AÎQ>aZo[a`m AÎQ>aZoQ>m

46. Amby Ho$ Hß$X H$s ~mhar gVh na A{Z`{_V

AmH$ma Ho$ Jhao ^yao aßJ Ho$ H¢$H$a, {ZÂZ{b{IV

_| go {H$g ~r_mar H$m EH$ {d{eÔ> bjU h°?

(A) Amby H$m H$mbm ÒH$\©$

(B) Amby H$m _Ògm

(C) Amby H$m AJoVr Pwbgm

(D) Amby H$m nN>oVr Pwbgm

47. A{YH$mße nmXn {dfmUwAm| _| _____ H$m

gßOrZ (OrZmo_) hmoVm h°ü&

(A) qgJb-ÒQ¥>¢S>oS> Ama0 EZ0 E0

(B) S>~b-ÒQ¥>¢S>oS> Ama0 EZ0 E0

(C) qgJb-ÒQ¥>¢S>oS> S>r0 EZ0 E0

(D) S>~b-ÒQ¥>¢S>oS> S>r0 EZ0 E0

48. d•jAm`wd}X {H$gZo {bIm, Omo ^maV H$s

nhbr nwÒVH$ h°, {Og_| nm°Ym| H$s ~r_m[a`m|

Am°a CZHo$ {Z`ßÃU na {dÒV•V {ddaU {X`m

J`m h°?

(A) {W`mo\´o$ÒQ>g

(B) ~r0 ~r0 _wßXHw$a

(C) gwanmb

(D) B©0 Oo0 ~Q>ba

49. A{YH$mße nmXn naOrdr gyÃH•${_ {ZÂZ{b{IV

_| go {H$g JU Ho$ A›VJ©V AmVo h¢?

(A) Q>mBboZ{MS>m

(B) S>m∞[abo{_S>m

(C) E\o$boZ{MS>m

(D) Zo_mQ>moS>m

50. {ZÂZ{b{IV _| go {H$g gyÃH•${_ H$mo {gÒQ>

gyÃH•${_ Ho$ Í$n _| OmZm OmVm h°?

(A) hoQ>oamoS>oam

(B) {S>{Q>bo›Mg

(C) {O{\$Zo_m

(D) {_bmoBS>moJmBZ
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51. Representative of which of the

following classes has three pairs

of legs?

(A) Chilopoda

(B) Diplopoda

(C) Insecta

(D) Arachnida

52. Which of the following insects

forms dead heart symptom in

plant?

(A) Sorghum shoot fly

(B) Mealy bug

(C) Cutworm

(D) Stem borer

53. Trichogramma is a parasitoid of

which of the following stages of

insect?

(A) Egg

(B) Caterpillar

(C) Pupa

(D) Adult

54. Springtails belong to which of

the following orders?

(A) Thysanura

(B) Collembola

(C) Diplura

(D) Protura

55. Spinosad, an insecticide-based

chemical compound, is released

by which of the following micro-

organisms?

(A) Bacillus spinosa

(B) Saccharopolyspora spinosa

(C) Aspergillus spinosa

(D) All of the above

56. Which of the following major

blood sugars is found in insects?

(A) Glucose

(B) Fructose

(C) Trehalose

(D) None of the above

57. Yellow marigold is grown as trap

crop mainly in tomato against

which of the following insect

pests?

(A) Helicoverpa

(B) Spodoptera

(C) Hopper

(D) All of the above

58. In India, the first case of

insecticide resistance in stored

grain insect pest was found in

(A) Tribolium

(B) Khapra beetle

(C) Rice moth

(D) Rhyzopertha
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51. {ZÂZ{b{IV _| go {H$g dJ© Ho$ ‡{V{Z{Y Ho$

VrZ OmoãS>r n°a hmoVo h°ß?

(A) H$mBbmonmoS>m

(B) {S>flbmonmoS>m

(C) B›goäQ>m

(D) Aa°H${ZS>m

52. {ZÂZ{b{IV _| go H$m°Z-gm H$sQ> nm°Yo _| S>oS>

hQ>© bjU ~ZmVm h°?

(A) ¡dma H$s ‡amoh _äIr

(B) _rbr ~J

(C) H$Q>d_©

(D) VZmdoYH$

53. {ZÂZ{b{IV _| go Q¥>mBH$moJ´m_m, H$sQ> H$s {H$g
AdÒWm H$m n°am{gQ>m∞BS> h°?

(A) AßS>m

(B) gy±ãS>r

(C) fl`ynm

(D) ‡m°ãT>

54. {ZÂZ{b{IV _| go pÒ‡®JQ>oÎg {H$g JU go

gÂ~p›YV h°?

(A) WmBgo›`yam

(B) H$moboÂ~mobm

(C) S>mBflbyam

(D) ‡moQ>Áwam

55. pÒnZmog°S>, EH$ H$sQ>ZmeH$-AmYm[aV

amgm`{ZH$ `m°{JH$, {ZÂZ{b{IV _| go {H$g

gy˙_-Ord Ho$ ¤mam CÀnfi {H$`m OmVm h°?

(A) ~°{gbg ÒnmBZmogm

(B) goHo$amonm∞brÒnmoam ÒnmBZmogm

(C) EÒn{O©bg ÒnmBZmogm

(D) Cn`©w∫$ g^r

56. {ZÂZ{b{IV _| go H$m°Z-gr ‡_wI a∫$ eH©$am

H$sãS>m| _| nmB© OmVr h°?

(A) ΩbyH$moO

(B) \´w$äQ>moO

(C) Q¥>ohbmoO

(D) Cn`©w∫$ _| go H$moB© Zht

57. nrbm J|Xm, Q>_mQ>a H$s \$gb _| _wª` Í$n go

{H$g H$sQ> Ho$ {bE Q¥>°n H´$m∞n Ho$ Í$n _| CJm`m

OmVm h°?

(A) ho{bH$modnm©

(B) ÒnmoS>moflQ>oam

(C) hm∞na

(D) Cn`©w∫$ g^r

58. ^maV _| ^ßS>m[aV AZmO Ho$ H$sQ>m| _| H$sQ>ZmeH$

‡{VamoY H$m nhbm _m_bm nm`m J`m

(A) Q¥>mB~mo{b`_ _|

(B) Inam ^•ßJ _|

(C) amBg _m∞W _|

(D) amBOmonWm© _|
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59. Epiricania melanoleuca is an

ectoparasitoid of which of the

following insects?

(A) Pyrilla

(B) Aphid

(C) Thrips

(D) Mealy bug

60. The queen honeybee secretes

pheromone by which of the

following glands?

(A) Mandibular glands

(B) Salivary glands

(C) Labial glands

(D) None of the above

61. The use of methyl eugenol

attracts which of the following

insects?

(A) Apple maggot fly

(B) Coconut rhinoceros beetle

(C) Oriental fruit fly

(D) Japanese beetle

62. Which of the following head

orientations is found in adult

beetle?

(A) Opisthognathous

(B) Hypognathous

(C) Prognathous

(D) Opisthorhynchous

63. Which of the following

honeybee species is not fully

domesticated?

(A) Apis dorsata

(B) Apis cerana indica

(C) Apis mellifera

(D) All of the above

64. National Centre of Integrated

Pest Management (NCIPM) is

located at which of the following

places?

(A) New Delhi

(B) Mumbai

(C) Lucknow

(D) Patna

65. The Destructive Insects and

Pests Act came in existence in

which of the following years?

(A) 1914

(B) 1981

(C) 1956

(D) 1920

66. In which stage of production,

the total product increases first

at increasing rate then increases

at decreasing rate?

(A) First stage

(B) Second stage

(C) Third stage

(D) Fourth stage
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59. {ZÂZ{b{IV _| go E{n[aHo${Z`m _oboZmobwH$m
{H$g H$sQ> H$m EH$ EäQ>mon°am{gQ>m∞BS> h°?

(A) nm`[abm

(B) _mhˇ±

(C) {W´flg

(D) _rbr ~J

60. {ZÂZ{b{IV _| go amZr _Yw_äIr {H$g J´ß{W

¤mam \o$amo_moZ Úm{dV H$aVr h°?

(A) O~ãS>o H$s J´ß{W

(B) bma J´ß{W

(C) bo{~`b J´ß{W

(D) Cn`©w∫$ _| go H$moB© Zht

61. {_WmBb `yOoZm∞b H$m ‡`moJ {ZÂZ{b{IV _| go

{H$g H$sQ> H$mo AmH${f©V H$aVm h°?

(A) go~ H$s _°JQ> _äIr

(B) Zm[a`b amBZmo{gag ^•ßJ

(C) Amo[aE›Q>b \$b _äIr

(D) OmnmZr ^•ßJ

62. {ZÂZ{b{IV _| go H$m°Z-gm {ga A{^{d›`mg

d`ÒH$ ^•ßJ _| nm`m OmVm h°?

(A) Am∞{nÒWmoæ°Wg

(B) hmBnmoæ°Wg

(C) ‡moæ°Wg

(D) Am∞{ngW>mo[a®Mg

63. {ZÂZ{b{IV _| go H$m°Z-gr _Yw_äIr ‡Om{V

nyU©VÖ nmbVy Zht h°?

(A) Eo{ng S>m∞agmQ>m

(B) Eo{ng gramZm Bß{S>H$m

(C) Eo{ng _r{b\o$am

(D) Cn`©w∫$ g^r

64. {ZÂZ{b{IV _| go amÔ¥>r` EH$sH•$V H$sQ> ‡~›YZ

Ho$›– (EZ0 gr0 AmB0 nr0 E_0) {H$g ÒWmZ

na pÒWV h°?

(A) ZB© {XÑr

(B) _wß~B©

(C) bIZD$

(D) nQ>Zm

65. {ZÂZ{b{IV _| go {dZmeH$mar H$sQ> Edß

ZmerOrd A{Y{Z`_ {H$g df© _| ApÒVÀd _|

Am`m?

(A) 1914

(B) 1981

(C) 1956

(D) 1920

66. CÀnmXZ Ho$ {H$g MaU _| Hw$b CÀnmX ~ãT>Vr Xa

na ~ãT>Vm h° Am°a {\$a KQ>Vr Xa na ~ãT>Vm h°?

(A) nhbm MaU

(B) Xygam MaU

(C) Vrgam MaU

(D) Mm°Wm MaU
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67. The economic return that flows

from the industry as each firm

pursues particular line of

conduct is known as

(A) market conduct

(B) market information

(C) market performance

(D) Both (A) and (C)

68. m-Kisan is an ICT initiative

launched by which of the

following?

(A) ITC

(B) IIT

(C) Tata

(D) GOI

69. How many extension education

institutes are there in India?

(A) 3

(B) 4

(C) 5

(D) 7

70. The term ‘learning by doing’

was coined by whom among the

following?

(A) Dr. Seaman A. Knapp

(B) J. P. Leagans

(C) John Dewey

(D) E. M. Rogers

71. How many districts of Bihar

are included in north-west

agroclimatic zone?

(A) 7

(B) 8

(C) 11

(D) 13

72. Where is ‘International Crops

Research Institute for the

Semi-Arid Tropics’ located?

(A) Patancheru (Hyderabad)

(B) Ibadan

(C) Nigeria

(D) New Delhi

73. Which is the third basic type of

cloud besides cumulus and

stratus?

(A) Cirrus

(B) Lenticular

(C) Mammatus

(D) None of the above

74. The first organic State of India is

(A) Himachal Pradesh

(B) Uttar Pradesh

(C) Karnataka

(D) Sikkim
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67. ‡À`oH$ \$_© ¤mam AmMaU H$s {deof aoIm H$m

AZwgaU H$aZo na C⁄moJ go {_bZo dmbo

Am{W©H$ [aQ>Z© H$mo H$hm OmVm h°

(A) ~mOma AmMaU

(B) ~mOma H$s OmZH$mar

(C) ~mOma H$m ‡Xe©Z

(D) (A) Am°a (C) XmoZm|

68. E_0-{H$gmZ {ZÂZ{b{IV _| go {H$gHo$ ¤mam

ewÍ$ H$s JB© EH$ AmB0 gr0 Q>r0 nhb h°?

(A) AmB0 Q>r0 gr0

(B) AmB0 AmB0 Q>r

(C) Q>mQ>m

(D) Or0 Amo0 AmB0

69. ^maV _| {H$VZo {dÒVma {ejm gßÒWmZ h¢?

(A) 3

(B) 4

(C) 5

(D) 7

70. "H$aHo$ grIZm' e„X BZ_| go {H$gHo$ ¤mam {X`m

J`m Wm?

(A) S>m∞0 gr_oZ E0 Zn

(B) Oo0 nr0 brJ›g

(C) Om∞Z Sw>B©

(D) B©0 E_0 amoOg©

71. {~hma am¡` Ho$ Zm∞W©-doÒQ> H•${f-Obdm`w joÃ _|

{H$VZo {Obo AmVo h¢?

(A) 7

(B) 8

(C) 11

(D) 13

72. "BßQ>aZ°eZb H´$m∞flg [agM© Bp›ÒQ>Q>ÁyQ> \$m∞a X

go_r-Eo[aS> Q¥>m∞{näg' H$hm± na h°?

(A) noQ>ZMoÍ$ (h°Xam~mX)

(B) B~mXmZ

(C) ZmBOr[a`m

(D) ZB© {XÑr

73. ä`yÂ`ybg d ÒQ¥>mQ>g Ho$ ~mX ~mXbm| H$s Vrgar

_wª` {H$Ò_ H$m°Z-gr h°?

(A) {gag

(B) boß{Q>ä`wba

(C) __oQ>g

(D) Cn`©w∫$ _| go H$moB© Zht

74. ^maV H$s nhbr O°{dH$ IoVr dmbm am¡`

H$m°Z-gm h°?

(A) {h_mMb ‡Xoe

(B) CŒma ‡Xoe

(C) H$Zm©Q>H$

(D) {g{∏$_
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75. Which of the following is not

included while saving the

imbalanced ecosystem?

(A) Natural resource

management

(B) Pollution control

(C) Depletion of ozone layer

(D) Recycling and use of

organic waste

76. GIS technology integrates

hardware, software and data to

create a system that allows

users to

(A) visualize, manipulate and

analyze spatial data in a

meaningful and effective

way

(B) data storage and manage-

ment

(C) monitor environmental

changes

(D) understand the natural

environment on a local and

regional scale

77. The study of soil’s influence on

humankind, use of land for

plant growth or overall use of

land is called

(A) pedology

(B) edaphology

(C) environmental soil science

(D) agricultural soil science

78. Igneous rocks are formed from

(A) melted rocks deep inside

the earth

(B) layers of sand, silt and dead

plant/animal waste

(C) underground heat and

pressure

(D) deposition of silicon

followed by heat and

pressure

79. Deterioration of rocks, soil and

minerals by various means is

called

(A) weathering

(B) soil erosion

(C) chemical weathering

(D) physical weathering

80. Downward movement of water

through saturated soil in

response to gravity is called

(A) percolation

(B) infiltration

(C) water flow

(D) hydraulic conductivity
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75. AgßVw{bV nm[apÒW{VH$s H$s ajm Ho$ {bE {H$go

em{_b Zht {H$`m OmVm h°?

(A) ‡mH•${VH$ gßgmYZ ‡~ßYZ

(B) ‡XyfU {Z`ßÃU

(C) AmoµOmoZ naV H$m ımg

(D) O°{dH$ nXmWm] H$s [agmBpäb®J Am°a

Cn`moJ

76. Or0 AmB0 Eg0 VH$ZrH$ _| hmS>©do`a,

gm∞‚Q>do`a d S>oQ>m H$mo EH$sH•$V H$aHo$

Cn`moJH$Vm© H°$go ‡`moJ H$aVo h¢?

(A) ÒWm{ZH$ Am±H$ãS>m| H$s H$ÎnZm, n[aMmbZ

d {dÌbofU go gmW©H$ d ‡^mdr Cn`moJ

(B) S>oQ>m ^ßS>maU d ‡~ßYZ

(C) n`m©daU n[adV©Z H$s {ZJamZr

(D) ÒWmZr` d joÃr` ÒVa na ‡mH•${VH$

dmVmdaU H$mo g_PZm

77. ^y{_ H$m _mZd Om{V na ‡^md, ^y{_ _| nm°Ym|

H$m {dH$mg d BgHo$ g_J´ Cn`moJ Ho$ A‹``Z

H$mo ä`m H$hVo h¢?

(A) noS>mobm∞Or

(B) BS>o\$mobm∞Or

(C) n`m©daU _•Xm {dkmZ

(D) H•${f _•Xm {dkmZ

78. B{æ`g M≈>mZoß ~ZVr h¢

(A) n•œdr Ho$ AßXa JhamB© VH$ {nKbr h˛B©

M≈>mZm| go

(B) aoV, {gÎQ> d _•V nm°Ym|/OmZdam| H$s

naVm| go

(C) ^y{_JV Vmn Edß X~md go

(D) {g{bH$m∞Z Ho$ O_md Ho$ ~mX Vmn Edß

X~md go

79. M≈>mZm|, {_≈>r d I{ZOm| Ho$ {H$gr ^r Vah Ho$

ımg H$mo ä`m H$hVo h¢?

(A) doX[a®J

(B) ^y{_ H$m BamoeZ

(C) amgm`{ZH$ doX[a®J

(D) ^m°{VH$ doX[a®J

80. gßV•· _•Xm _| JwÈÀdmH$f©U Ho$ H$maU nmZr H$s

{ZMbr Va\$ H$s J{V H$mo ä`m H$hVo h¢?

(A) nH$m}boeZ

(B) Bp›\$ÎQ¥>oeZ

(C) dm∞Q>a ‚bmo

(D) hmBS¥>m∞{bH$ Hß$S>päQ>{dQ>r
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81. Soil health is determined by

(A) amount of compost applied

(B) actual capacity of soil to

function

(C) inherent capacity of soil to

function

(D) None of the above

82. Acid rain, polluted drinking

water and dead zone in the

water bodies is due to the

excessive use of

(A) nitrogen fertilizers

(B) phosphorus fertilizers

(C) potassium fertilizers

(D) unknown factors

83. Which one of the following is an

Indian dwarf wheat?

(A) Triticum aestivum

(B) Triticum dicoccum

(C) Triticum sphaerococcum

(D) Triticum turgidum

84. The dwarf varieties of wheat

brought from Mexico to India

were

(A) Sonora-64 and Sonalika

(B) Lerma Rojo-64 and S227

(C) Sharbati Sonora and Pusa

Lerma

(D) Sonalika

85. Hybridization is

(A) the process in which

two complementary single-

stranded DNA/RNA mole-

cules bond together to form

double-stranded molecule

(B) the process of mixing two

or more varieties

(C) development of a variety

after natural or artificial

mutation

(D) selection of a variety in a

cross-pollinated crop from

within a population

86. Reselection generation after

generation with intermating of

selected plants to produce the

population for next cycle of

selection is called

(A) recurrent selection

(B) back-cross selection

(C) mass selection

(D) bulk selection
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81. _•Xm ÒdmÒœ` H$m {ZYm©aU {H$`m OmVm h°

(A) ‡`w∫$ H$m∞ÂnmoÒQ> H$s _mÃm ¤mam

(B) _•Xm H$s dmÒV{dH$ H$m`©j_Vm ¤mam

(C) _•Xm H$s AßV{Z©{hV H$m`©j_Vm ¤mam

(D) Cn`©w∫$ _| go H$moB© Zht

82. Ob {ZH$m`m| _| AÂbr` dfm©, ‡Xy{fV no`Ob

`m _•V joÃ {H$gHo$ A{YH$ ‡`moJ go ~ZVo h°ß?

(A) ZmBQ¥>moOZ Cd©aH$

(B) \$m∞Ò\$moag Cd©aH$

(C) nmoQ>°{e`_ Cd©aH$

(D) AkmV H$maH$

83. {ZÂZ{b{IV _| go H$m°Z-gm ^maVr` ~m°Zm

Johˇ± h°?

(A) {Q¥>{Q>H$_ EÒQ>mBd_

(B) {Q¥>{Q>H$_ S>mBH$moH$_

(C) {Q¥>{Q>H$_ Ò\°$amoH$moH$_

(D) {Q¥>{Q>H$_ Q>{O©S>>_

84. {ZÂZ{b{IV _| go H$m°Z-gr Johˇ± H$s ~m°Zr

{H$Ò_/{H$Ò_| _opägH$mo go ^maV bmB© JB© h°/h¢?

(A) gmoZmoam-64 Edß gmoZm{bH$m

(B) b_m© amoOmo-64 Edß Eg0227

(C) ea~Vr gmoZmoam Edß nygm b_m©

(D) gmoZm{bH$m

85. gßH$aU h°

(A) EH$ ‡{H´$`m, {Og_| Xmo nyaH$ EH$-aoer`

S>r0 EZ0 E0/Ama0 EZ0 E0 AUw

{_bH$a {¤aoer` AUw ~ZmVo h¢

(B) Xmo `m ¡`mXm {H$Ò_m| H$mo {_{lV H$aZo H$s

‡{H´$`m

(C) ‡mH•${VH$ `m H•${Ã_ CÀn[adV©Z Ho$ ~mX

ZB© {H$Ò_ ~ZmZm

(D) na-namJU Ho$ ~mX nm∞nwboeZ _| EH$

{H$Ò_ H$m M`Z

86. M`{ZV nm°Ym| _| gßJ_Z Ho$ ~mX nwZM©`Z go

AJbo M`Z MH´$ Ho$ {bE nm°Ym| H$s OZgßª`m

CÀnfi H$aZo H$s ‡{H´$`m H$mo ä`m H$hVo h¢?

(A) [aH$a|Q> goboäeZ

(B) ~°H$-H´$m∞g goboäeZ

(C) _mg goboäeZ

(D) ~ÎH$ goboäeZ
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87. Which mechanism in plants

ensures that all the organisms

produced by sexual reproduc-

tion contain the correct number

of chromosomes?

(A) Mitosis

(B) Meiosis

(C) Vegetative division

(D) Cytokinesis

88. Single cell’s ability to undergo

division and produce

differentiated cells that can

develop into a new whole plant

is called

(A) totipotency

(B) pluripotency

(C) somatic embryogenesis

(D) meristem culture

89. In India, all varieties of seeds for

sale have to be registered and

should meet minimum

standards as per the provision

given in

(A) the Indian Seeds Act, 1966

(B) the Seeds Act, 1983

(C) the Seed Bill, 2004

(D) the Seed Bill, 2014

90. In which of the following

apiculture is not useful?

(A) Pollination

(B) Improvement of environ-

ment

(C) Production of bee wax, jelly,

etc.

(D) Treatment of arthritis and

snakebite

91. Bollworms damage the crops in

which of the following methods?

(A) Puncture the plant parts

and suck the cell sap

(B) Larvae bore into the plant

and cause drooping

(C) Eat up the soft parts of the

plant

(D) Compete with the host for

food and space

92. Which of the following is not

correct relating to insect pests of

field crops with respect to their

damage?

(A) They directly cut the root,

stem and leaves of the

plants

(B) They produce toxic

substances that damage the

crop

(C) They suck on the cell sap

(D) They bore into the stem and

fruits
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87. nm°Ym| _| b¢{JH$ ‡OZZ _| {H$g V›Ã ¤mam ghr

H´$mo_mogmo_ H$s gßª`m {ZYm©[aV H$s OmVr h°?

(A) _mBQ>mo{gg

(B) {_`mo{gg

(C) dmZÒn{VH$ {d^mOZ

(D) gmBQ>moH$mBZo{gg

88. EH$b H$mo{eH$mAm| _| {d^mOZ go JwOaZo d

{d^o{XV H$mo{eH$mAm| H$m {Z_m©U H$aZo H$s

j_Vm go Z`m nm°Ym V°`ma H$aZo H$s `moΩ`Vm H$mo

ä`m H$hVo h¢?

(A) Q>moQ>rnmoQ>|gr

(B) flbyarnmoQ>|gr

(C) gmo_o{Q>H$ EpÂ~´`moOoZo{gg

(D) _o[aÒQ>o_ H$ÎMa

89. ^maV _| {~H´$s Ho$ {bE g^r {H$Ò_m| Ho$ ~rO

nßOrH•$V hmoZo d ›`yZV_ _mZH$m| H$mo nyam H$aZo

H$m ‡mdYmZ {H$g {Z`_ Ho$ A›VJ©V AmVm h°?

(A) X Bß{S>`Z grS≤>g EoäQ>, 1966

(B) X grS≤>g EoäQ>, 1983

(C) X grS> {~b, 2004

(D) X grS> {~b, 2014

90. _Yw_äIr-nmbZ {ZÂZ{b{IV _| go {H$g_|

Cn`moJr Zht h°?

(A) namJU

(B) n`m©daU gwYma

(C) _mo_, Oobr Am{X H$m {Z_m©U

(D) dmVamoJ d gn©Xße H$m BbmO

91. ~m∞bd_© \$gbm| H$mo H°$go ZwH$gmZ nh˛±MmVm h°?

(A) nm°Ym| H$mo N>oXH$a H$mo{eH$m H$m ag MygZm

(B) bmdm© ¤mam nm°Yo H$mo N>oXH$a {Jam XoZm

(C) nm°Yo Ho$ _wbm`_ D$VH$ H$mo Im OmZm

(D) ^moOZ d ÒWmZ Ho$ {bE _oµO~mZ go

‡{VÒnYm©

92. H$sQ>m| ¤mam \$gbm| H$mo hm{Z nh˛±MmZo Ho$

g›X^© _|, {ZÂZ{b{IV _| go H$m°Z-gm ghr

Zht h°?

(A) H$sQ> nm°Yo H$s OãS>, VZm d nŒmm| H$mo

grYm H$mQ>Vo h¢

(B) do µOharbm nXmW© N>moãS>H$a \$gb H$mo

hm{Z nh˛±MmVo h¢

(C) do H$mo{eH$mAm| H$m ag MygVo h¢

(D) do VZo d \$bm| _| N>oX H$aVo h¢
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93. Plutella xylostella is commonly

called as

(A) cabbage looper

(B) tobacco caterpillar

(C) painted bug

(D) diamondback moth

94. Pesticide formulation consisting

of a solid active ingredient

dispersed in water is called

(A) suspension concentrate

(SC)

(B) emulsifiable concentrate

(EC)

(C) flowable formulation

(D) water dispersible

formulation

95. What is the cause of paddy

blast?

(A) Cochliobolus miyabeanus

(B) Rhizoctonia solani

(C) Magnaporthe grisea

(D) Mycosphaerella graminicola

96. The quarantine regulations

anticipate

(A) the pathogen/disease is not

present in a country

(B) the pathogen/disease may

be present in a country

(C) Both (A) and (B)

(D) None of the above

97. Nematode associated with root

curling symptoms is

(A) Xiphinema

(B) Ditylenchus

(C) Longidorus

(D) Pratylenchus

98. Quincunx system of orchard

layout is popularly known as

(A) diagonal system

(B) hexagonal system

(C) rectangular system

(D) contour system

99. Germination of seed while it still

remains attached with the

parent source is called

(A) ovipary

(B) vivipary

(C) apomyxis

(D) asepsis

100. Which of the following is a union

tax?

(A) Corporation tax

(B) Taxes and agricultural

income

(C) Capital tax

(D) Land revenue
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93. flbyQ>obm µOmBbmoÒQ>obm H$mo gm_m›`VÖ ä`m H$hm
OmVm h°?

(A) H°$~oO byna

(B) Q>mo~°H$mo H°$Q>a{nba

(C) n|Q>oS> ~J

(D) S>m`_ßS>~°H$ _m∞W

94. H$sQ>ZmeH$ \$m∞_©yboeZ, Omo R>mog g{H´$` KQ>H$

H$mo nmZr _| {_{lV H$a ~ZmB© OmVr h°,

H$hbmVr h°

(A) gÒno›eZ H$m∞›g|Q¥>oQ> (SC)

(B) B_Îgr{\$E~b H$m∞›g|Q¥>oQ> (EC)

(C) ‚bmoE~b \$m∞_©yboeZ

(D) dm∞Q>a {S>Òn{g©~b \$m∞_©yboeZ

95. YmZ Ho$ „bmÒQ> amoJ H$m H$maH$ H$m°Z-gm h°?

(A) H$mopäbAmo~mobg {_`m{~`mZg

(B) amBµOmoäQ>mo{Z`m gmobZmB©

(C) _°æmnmoWu J´r{g`m

(D) _m`H$moÒ\o$aobm J´°{_{ZH$mobm

96. gßJamoY {Z`_ ä`m ‡À`m{eV H$aVo h¢?

(A) amoJ/amoJOZH$ Xoe _| Zht h°

(B) amoJ/amoJOZH$ Xoe _| hmo gH$Vo h¢

(C) (A) Edß (B) XmoZm|

(D) Cn`©w∫$ _| go H$moB© Zht

97. Í$Q> H${b™J bjU H$m°Z-go gyÃH•${_ go

gÂ~p›YV h¢?

(A) {µO\$sZo_m

(B) {S>Q>rb|H$g

(C) bm∞›JrS>m∞ag

(D) ‡oQ>rb|H$g

98. qπ$Hß$äg ‡Umbr Ho$ ~mJ H$s boAmCQ> H$mo

bmoH${‡` ^mfm _| ä`m H$hVo h¢?

(A) S>m`JmoZb ‡Umbr

(B) hoägmJmoZb ‡Umbr

(C) aoäQ>¢Ω`wba ‡Umbr

(D) Hß$Qy>a ‡Umbr

99. ~rO H$m AßHw$aU Ho$ _yb ÚmoV go OwãS>o ahZo H$mo

ä`m H$hVo h¢?

(A) Amodrnar

(B) {d{dnar

(C) Enmo{_pägg

(D) Egopflgg

100. {ZÂZ{b{IV _| go H$m°Z-gm gßK H$a h°?

(A) H$m∞nm}aoeZ Q>°äg

(B) H$a d H•${f Am`

(C) ny±Or H$a

(D) ^y-amOÒd
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25/AGS/M–2023–07 nwpÒVH$m ˚m•ßIbm
CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

nm°Ym gßajU
nÃ—I

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe
1. Bg ‡ÌZ-nwpÒVH$m  _| Hw$b 100 ‡ÌZ h¢ü&
2. g^r ‡ÌZm|  Ho$  AßH$  g_mZ h¢ü&
3. g^r ‡ÌZm|  Ho$  CŒma  X|ü&
4. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s

˚m•ßIbm _w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gßª`m 30 Am°a 31) g{hV nyao 32 _w{–V

n•> h¢ Am°a H$moB© n•> `m ‡ÌZ Jm`~ `m {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _|

{H$gr ‡H$ma  H$s Ãw{Q> nmZo na VÀH$mb BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

5. `{X {H$gr ‡ÌZ _| {H$gr ‡H$ma H$s H$moB© _w–U `m Vœ`mÀ_H$ ‡H$ma H$s Ãw{Q> hmo, Vmo ‡ÌZm| Ho$ AßJóOr VWm {h›Xr Í$nm›Vam| _| go
AßJóOr Í$nm›Va H$mo  _mZH$  _mZm Om òJmü&

6. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&
7. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo ‡ÌZ-nwpÒVH$m g{hV CŒma nÃH$ {X`m Om òJmü& AnZo CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ

_| AnZm Zm_, AZwH´$_mßH$, ‡ÌZ-nwpÒVH$m ˚m•ßIbm VWm A›` {ddaU AdÌ` {bI| A›`Wm AmnH$m CŒma nÃH$ Om±Mm

Zht Om`oJmü&

8. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV H$mo>H$ H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ
go AdÌ` Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma

nÃH$  H$m ghr _yÎ`mßH$Z Zht hmoJmü&

9. Bg nwpÒVH$m _| g^r ‡ÌZ Am°a CZHo$ CŒma AßJóOr Edß {h›Xr _| _w{–V h¢ü& ‡À òH$ ‡ÌZ Ho$ Mma CŒmaçç(A), (B), (C) Am°a (D)
H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a AnZo CŒma nÃH$ na Aß{H$V H$a|ü& `{X AmnH$mo Eogm
bJo {H$ {H$gr ‡ÌZ Ho$ EH$ go A{YH$ CŒma ghr h¢, Vmo Amn AnZo CŒma nÃH$ _| Cg CŒma H$mo Aß{H$V H$a| Omo AmnH$mo gdm}Œm_ bJoü&
‡À òH$ ‡ÌZ Ho$ {bE Ho$db EH$ hr CŒma MwZZm h°ü& AmnH$m Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$ _| Aß{H$V ghr CŒmam| na {Z^©a
hmoJmü&

10. CŒma nÃH$ _| ‡À òH$ ‡ÌZ gßª`m Ho$ gm_Zo Mma d•Œm Bg ‡H$ma ~Zo h˛E h¢çç Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À òH$ ‡ÌZ Ho$ {bE
Ho$db EH$ CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _|
{ZemZ bJmVo h¢, Vmo AmnH$m CŒma JbV _mZm Om òJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr

Ò`mhr Ho$  ~m∞b-nm∞B›Q> noZ H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

11. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm H$s Ad{Y _| narjm ^dZ go
~mha H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m
AnZo gmW bo OmZo H$s AZw_{V  h°ü&

12. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm
AmnH$mo X�S>  {X`m  Om gH$Vm h°ü&

13. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ CnamßV hr
narjmH$j  H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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